@D y=2x>-5x+2

© y=3x-4
1
@y:;

e & 4l










@ y=-2(x+3)?2+4

=——x2+4

Dy

@ y=x*+4

X2 -5

1
4
—3x2

®y

® y



BK

1 A2 BF

] o
il

Z7} x Foll tisto] tiA

Feo] 12

© y = 4x?

@ y=-x?




YA
o\ =

®a>0,p<0,g<0 @ a>0,p>0,g<0

®a>0,p>0,g>0 @ a<0,p<0,g>0

® a<0,p>0,g<0



7. olAEL f(x) = 2% —dx+3 A fla) =3 A W, q O S BE
Jajolat,

o e

o e



ojattr y = ax® + bx + ¢ o A L7} vz 232

b o] & Ffedel,

=
e

5}

[e)
=

o, &<

7 44

() + 4

m,
(1,

n o sked m—n = 6 ol T},
m) 7 (-1, n) 2 A},

5 S
-



9.

yZbx2 ol vEet, x =3 o, y =3

o]
y=ax* o] E2 et off, ¢ o] gto = ek
1 1
@ 0 @5 @1 @

.

A

o



10. o5 H7]F ol
7

e e = ]
KeX
=

<

g3} 2ol e 218 B ejel,
[a 1]
=
Q@ y=x © y=-3x
_ 5 __1.
@y—4x ®y= 5%
@ y=5x2 ® y=-15x°

> L
=¥




11. o5 H7)9] oj&gte9] e g ZE49] Zo] {2 A= L
Shojzt.
(a1
H7]
Q@ y=4x? @y:—§x2

4 12

2 .2

©® y= 3x ® y= 4x

D EE
D EE

D EE






ol

13.

y = -3(x—2)? o[t}

ol
I
or

TR

s},

oy o] e F

S}
=

® x>2 < HA x 9] gro] F7}



ojFtey = -2(x+1)? + 49 LY ZE xF, yF A FF
olFe 1Lt A (a, -9)E A& W, T

o

a

lo Hu

N
-~ =
flo 13






3(x+2)% - 5 o] TR m) A BALY] HEE (4, b),
Pl a+ b - c O F2 FSHH?

ek



AT y = —x

dv}

20l O nE x Fo| WFer 4 vHF FH o5
Tzl x 9] go] S7FE Wy ©f F F7teke x o whe] WA
=7

@ x>-4 @ x<-4 @ x<4

@ x>4 ® x>-5



oAk y = —(x+2)? - 1 o] Tzl chat Aolet.

60,60 206 006 ®®oe 060



19.

ol g4

¥ x S

O +2

y=3x% 9 2= A (q, 12) E AL, o]}
| histe] tiAolct, o] uf, ab 9] 7He?

@ +3 ® +5 @ +6

® +7



©)
=)
v

lo
1o,
o
Y
oot
-+
lo
I
i)
Iz
2
u)
ok
%
o,
of
sl
N,
&2
Flo
N
Tlo

-0

hy= %xQ
() y = -2+
() y=2¢
Ehy= —1x2

@ (e (ch 2] Tz x Zof disto] A2 gholct.
® x % oleh %ol LA e i (), (2} oIt



